
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

6 × 10 =0 650.8 × 10 =(−4)

10 =(−2) 605.4 × 10 =(−3)

868.9 ÷ 10 =(−3) 10 =(−3)

7 × 10 =(−2) 231 × 10 =(−2)

8 × 10 =0 10 =(−4)

−3 × 10 =2 9 × 10 =2

2 × 10 =2 117.5 ÷ 10 =(−2)

2 × 10 =(−1) 3 × 10 =(−4)

10 =(−3) 195.4 × 10 =(−1)

171.2 ÷ 10 =(−4) 446.9 × 10 =(−3)

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

6 × 10 = 60 650.8 × 10 = 0.06508(−4)

10 = 0.01(−2) 605.4 × 10 = 0.6054(−3)

868.9 ÷ 10 = 868900(−3) 10 = 0.001(−3)

7 × 10 = 0.07(−2) 231 × 10 = 2.31(−2)

8 × 10 = 80 10 = 0.0001(−4)

−3 × 10 = −3002 9 × 10 = 9002

2 × 10 = 2002 117.5 ÷ 10 = 11750(−2)

2 × 10 = 0.2(−1) 3 × 10 = 0.0003(−4)

10 = 0.001(−3) 195.4 × 10 = 19.54(−1)

171.2 ÷ 10 = 1712000(−4) 446.9 × 10 = 0.4469(−3)
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